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Hay 22 79,245 75,113 4,132
101 Q1248 54,173 50,553 3,620
VPIEEES TR 54,173 50,553 3,620
o MAALSRA LA 45,965
- =32 38,000 * 6% * 1802 41,040
-aneER 41,040,000 * 12% 4,925
o Mad P57 HA
38,000 * 3% * 32 « 243l 8,208
201 Yere gt 22,672 24,560 A1,888
01 At 22|t 13,100 15,500 A2,400
O R L
55,000 * 10004 * 1] 5,500
o MAHES AT Hy|
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100,000 * 3% + 23] 600
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el g 2 (=T AILSESIAH) (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
o MHGtHA 790 = 1,200kg * 42| 3,792
o M It ACH 240,000 = 24t 5,760
o AZE2HI| 2,500 * 600kg 1,500
o ZclEeL=R0les 200,000 = 30m’ 6,000
401 Al IR S THYI 120,000 230,450 A 110,450
01 A& H 120,000 230,450 110,450
o a3 AMEE A 37,000
- &3 ~ AN 100,000 * 50m" * 63l 30,000
-83=X 100,000 * 70m" * 13l 7,000
o =& EAE B+ 5,000,000 * 64 30,000
o Hx= HMAIE X 20,000,000 * 14! 20,000
o H=H FHHI 20,000,000 * 14! 20,000
o FH A LSAMLEE A ¥ ES
13,000,000 * 14 13,000
403 XX HMS =0l & 59,200 59,200 0
02 S| 2SOICHSHCHE AR S HI 59,200 59,200 0
o REUMAIEsEE-AIE FA2AcH € &2
s =M 59,200,000 * 12 59,200
S E 2l 31,964 30,343 1,621
201 L2 Y| 31,964 30,343 1,621
01 AtR 22|l 31,964 30,343 1,621
o HETAMEFZ 17,304
- B (EUBA - 68=)
32,200 * 123 * 2IHA 773
- = (SIIZA - 298 2)
332,800 * 42| * 2JHA 2,663
- Y==(5788) 303,500 * 123 * 1A 3,642
- =EE(4E=) 21,600 = 122 » 3MA 778
- LEa=2(1083)
52,200 * 122 * 1JHA 627
- SFUFE(NES) 62,500 « 43 * 4014 1,000
- =AHAA(TE ) 33,100 * 553 1,821
- @ HHOlHAZAHBE 2)
1,500,000 43l 6,000
o =EIMASHHSUHE
120,000 » 108+ 1,200
o =HBAMSAIXS 100,000 » 105 = 13 1,000
o =XEZEEUAM g2
400 = 6,00001 * 12l 2,400
o =& E2= & M 500,000 * 53l 2,500
o =G 4
70,000 * 48 = 23| 560
o F+FNS=ZFEX=AHl 3,000,000 * 12 3,000
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800,000 * 53l 4,000
s P 72,327 38,196 34,131
101 @124 | 61,287 38,196 23,091
04 JI2ZtHZ22XNHSE+ 61,287 38,196 23,091
o AxEHER 61,287
- 32 38,000 » 8% » 180 54,720
- 404 B2 54,720,000 * 12% 6,567
201 ZEt2FH| 11,040 0 11,040
01 AtR2tel 11,040 0 11,040
< Yuragyl > 0
o M3 DRAM 66,000 x 102 * 45 2,640
o ML MAMEZZOHM FXHI
700,000 * 128 8,400
aC StisAld SAH & 22 785,000 381,760 403,240
206 M= Hl 69,000 23,760 45,240
01 WEYl 69,000 23,760 45,240
o HEI(MAE) 36,000 * 1,000H 36,000
o HEI BSS 66,000 » 5004 33,000
401 Al & HIL 2 THH| 370,000 270,000 100,000
01 A& HI 370,000 270,000 100,000
o LEALE Hi=2 JiZ 100,000 * 2,500m 250,000
o NATHAR B4 L HE
100,000 = 1,000m 100,000
o dxEAAAFI| &X 200,000 * 100K 20,000
402 BI2H X201 M 346,000 88,000 258,000
02 SI2tCHEE AR I 346,000 88,000 258,000
o L2434 2327
200,000 *= 10092z = 102l 200,000
o = A 2+ 2 WM 60,000 = 40004 24,000
o 1E Yl we B4 U D
80,000 = 1504 12,000
o & A BESES WAl 200,000 * 504 10,000
o MArEgrIAHH 500,000 » 200A 100,000
ollgl Bl 58,798 58,292 506
801 ol HI bl 58,798 58,292 506
01 ofltl Bl 58,798 58,200 506
o oIyl 58,798,000 58,798
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